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séd to increase honey production. |
b) ufis SR Apis Dorseta
slofie (d) Ui BeRT Apis Melliphera

(ii) fewraw TS STFESH F ZeT9H] 7 39 ©
The ratio of the masses of calcium and oxygen in calcium oxide
- 4 l
(b) 34 (c) 5:2 (d) 1:1
(iif) of T wrdrgman sfvres ot & 7
substance has greater compressibiliy? I
a) 39 Solid ' (b) & Liquid

(c) ™ Gas (d) 379 ¥ #E 81 None of these
(v) Fret o @ S0 Ficiss 59 9 o @1 fasm §—

Which of the following colloids is a mixture of liquid and solid. |

(a) ¥ Sponge (b) 39 Milk
(c) T Cheese (d) FEA Fog

(v) ot g %1 et el & fee wior & —

An expression for the kinetic energy of an object is : |

(a) mv? (b) mv (c) Yamv* (d) mgh
(vi) uﬁﬂmaﬂ%maﬁqﬂﬁmmﬁmm?ﬁwaﬁm
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“ f distance between two objects is halved, the gravitationa] oy,

(vii)

(viii)

(x)

2./ e T g

(ii)

(i)

(iv)

(v)

increases by : . |
(a) 27 2times (b) 47T 4 times

(c) 107 10 times (@ aafe@fid Unchanged
aﬁ"ﬂmmi: The unit of pressure is : I
(a) 1 Newton (b) 9rR=Rd Pascal

(c) Ffea Kelvin (d) &A™ Kilogram

el g R 36 9 A S A gl ¥—

Which metal is in liquid state at room temperature. |
(a) I Silver (b) ifea® Sodium

(¢) TP Aluminium (d) WU Mercury Q

ardifE TecErd fetid G 1/ B — \.

What is the value of G Universal Gravitati Cohstant. |

(@) 6.67x 10" Nm?kg® (b) 6.67 @l m? kg*

© 607x 102N mikg? (d) 67 x YN m? kg’

waf =} o waifus SRt & ¢ The of sound is highest in : 1

(a) g H Inair l’ H Iniron

(c) v # In water g H In vacuum

the blanks : 10x1=10
g 51 39 sEe @ 9 9 35w

............. FeeE & ) / SHEE)

hanging from solid to gaseous state without
Yiquid state is called.............. (Condensation /

.............. fagor &1 (FARR / Faromidt)
UtION i8 A.veererres ... mixture. (homogenous / heterogenous)
# Spta H wiEd F HRO WA I H o FEAE |

(nferst st / fewtforar &5th)

The energy obtained due to change in the shape of an object is
called................. (Kinetic energy / Potential energy)

COR GG L o QR e &1 (HaT / @)

The rate of change in velocity is called................ (momentum/
acceleration) -

TRl o T ST T MR e R T W ...... TS | [% 2 )
The weight of an object on moon............. times of its weight on

earth. H—'/%]
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(vi) T e it &1 (ereed / ST
Sound waves are... ........... waves. (longitudinal / transverse)

(vii) fim el S AN ) QR T HA A TR S -
FE B, T oo, FEA &) (TR / TN
Elements whose atoms have the same atomic rumber but different
masses are called.............. (isotopes / isobars)

Lyt S et Wapgd § | (AN / AEEE)

........ is alsocalled the suicide bag o the cell. {Ribosome/Lysosome)

%ﬁ%@ﬁﬁﬁﬁtﬁmﬁaﬁqﬁﬁﬂﬁﬂﬁﬂﬁw@ﬁrﬁ ...........
| (pem w / fmEE)
1 Qre-pianned

The growing of different crop s on 4 piece of !\ )
succession is called............. (crop rot gixed cropping)
G A ICEINED)

(x) THGE, TS MG oo F
ﬂ f.....(weed/pesticides)
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Mention any two differenc een mixture and compound. 2
4~ fafaa wEa @ 319 A 7 S ST
What do you unde mixed cropping? Give examples. 2
5.4 71 Sl 31 PN AT ?
rence between kinetic energy and potential energy? 2

What is the @i
' 32 a1 ATHifeRa {53 TR

6‘?;3'[:1'351
Dra ed diagram of a nerve cell - neuron. 2
1/ W?ﬁﬁaﬂﬁﬁﬁﬁﬂ@tﬁﬁﬁm%l?ﬁ?

h is shaken vigorously? 2

f when a tree branc

Why do some leaves fall 0

g, 12 foFm. FoAM S T 59 mﬁﬁﬁﬁwmmﬁm%lq&a@aﬁ
feufers il 480 J%ﬁmﬁuﬁ#mﬁa%&é i Fife i g
o 10 ms 28|

A 12kgobjectis
energy of the ob
the earth when the val

the earth. If the potential

situated ata certain height from
¢ of the object relative o
g

ject is 480 J, then find the heigh
2

we of g is 10 ms ™.
Fersre @A F € 7

o, , FIeH (¥IF) it A
What is the spc‘cial function_off cardiac (heart) muscle? 2
10\;@@@ %1 @A A fafaa
State the Universal Law of Gravitation. 2
| u.*;zﬁaﬁmﬂiaﬁamﬁwma A
between loudness and intensity of sound. 2

Explain the difference
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does the s
e PﬂadLD of sound depend on the medium? Explai
2 ng Answer Type Questions : plain.

‘What are th desirable char
! ﬂoniqf. acters of bee varieties suitable for hnncy
. _m#maaih%mﬁwam%? . :
What are the differences betwe f
en the ma %n object and iis
m fereEs m%zv@mmrﬂjm & a
@

t and write the characteristics of
4

%Uﬂ out whether or not work is done in the 111=ht

g of the term “"mk
rﬁa AR IO TER

a load on its bar:k
An engine is pulling & train

5 79 F a"fﬁ' e
=) ﬁﬂf@?‘?fﬁr&@'ﬂagﬂ‘ﬁﬁ%‘mﬂ i ger HH
anure and fertilizers 1n maintaining soil
: 4

4

di'l

Compare the use of m

 fertility? |
+ froqmit feafau— Write a short note 0n £
(b) Fomee] Wave length

(a) a,'rrqfﬂ Frequency
(d) a1 an Velocity of wiv:

(c) T period |
¥ -2 3qe gfe |
nd and th ird law of motion.

ples of the first, secO
tollowing :

: k>l fafaa— Write the formulas of
TEHRe Potassium sulphate )

(a) grefarad
(b) Ffeerad Calcium h:,dnmde
{{:) waful T aéms:ﬁ Aluminium chloride
FHTa & FATEC Carbontetrd chloride |
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f,ff'm* 10's AR % favert gt o st 2

t : .

sz ;all?reemuglmns of motion. A racing car has auniform acceleration
S™°. What distance wil] it cover in 10 S after start. 4

“ﬁaﬁﬁmwﬁawﬁﬁﬁawmﬁmu

Draw a diagram of an anima] cell and write in detail about any two

organelles. 4
¥ Essay Type Questions :

(i) SRTHA F 39 1 gz § 2 )
What do you mean by buoyancy? s ‘ 1+2+3=6

(i) 9% Tmm%wﬁ@sﬁmuﬁ & T WHE
AT g ?

*
Why a block of plastic when released ur@kﬂf come up to the

surface of water? g
(iii) soom%wﬁmmmm cm? % 962 | gm cm™3

S I 9 S R gam 2 g ST fereerfi W 0 g
feperT & 2 é
The volume of 500 g sea cket is 350 cm? will the packet float

of water is 1 gm cm™? What will be

or sink in water if the
aced by this packet?

the mass of the w:

(OR)
(i) qH U ¥z € 2 What do you mean by free fall?
(i) &g FEd 8 2 3HF UA fFam aa & 2

mean by acceleration due to gravity? What s its value?
(iii) 9 ST Fae R @ foet 1 fFm. g & 9 1oty 99 =
41 81T 2 (e 1 F=AA 6 x 1024 kg, @ Yo w1
6.4 x 106 e & 1)
What is the magnitude of the gravitational force between the earth
and a 1 kg object on its surface? (Mass of earth is 6 x 10°* kg, and
radius of the earth is 6.4 x 10° m.)

(i) FEfFrAFEd€? What is work? 142+3=6
(ii) &1 gA G 7S fAf@T1 Write the formula and unit of work.
(i) 1500 femam. T=9H I HRH! S 60 km/ hr. & AR = W E, I

& fore fore 1T =/ 1 9fiereq wifaa |
Calculate the work required to be done to stop a car of 1500 kg
moving at a velocity of 60 km/ hr.
3gar (OR)
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wf foFl FEd €2 What is power?
wifts %1 93 @ A faf@e| Write the formula and unit of power.
wF far €1 &t wifva vfs 1500 w &, 10 wve ® 7 et ol &1

IqE F4m ?

~ An electric heater is rated 1500 w. how much energy does it use in

10 hours.

s WA M AR ? Q
What do you mean by infra sound? §
SR R Fed €2  What is@?ﬂratium?

142+3=06

FEe T ¢ Q) eI FlEm § T

Explain any two uses @lc reflection of sound.
(OR)

Tqed | A fpa e € 7
What is the a% nge of sound in humans?
?

uﬁl‘tﬂﬁ / What is Echo?
2 st fawmR & TRl

in’any two uses of Ultrasound.
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